) BARRACUDA

ASSEMBLING INSTRUCTION LEGEND

1.MOTORCYCLE BRACKET 4. TEFLON WASHERS @5 7.NEOPRENE 20X20
STAFFA MOTOCICLETTA RONDELLA TEFLON @5 NEOPRENE 20X20
SOPORTE DE MOTOCICLETA ARANDELAS DE TEFLON @5 NEOPRENO 20X20

Wl N DS H | E LD K | T MOTORRADHALTERUNG TEFLONSCHEIBE @5 NEOPREN 20X20

SUPPORT DE MOTO RONDELLE EN TEFLON @5 NEOPRENE 20X20

2. WINDSHIELD 5.RUBBER WASHERS

DNM1300-22 CUPOLINO RONDELLA GOMMA

CUPOLA ARANDELAS DE CAUCHO
WINDSCHILD GUMMISCHEIBE
SAUTE VENT RONDELLE EN CAOUTCHOUC

3.ALLEN SCREW M5X14 6. THREADED SPACER

WWW._BARRACUDAMOTO.COM VITE A BRUGOLA M5X 14 SPESSORE FILETTATO

TORNILLO ALLEN M5X14 ESPACIADOR ROSCADO
INBUSSCHRAUBE M5X14 GEWINDE ABSTAND
VIS ALLEN M5X14 ESPACEUR FILETE

ORIGINAL ALLEN SCREW

ORIGINAL ALLEN SCREW |

PASTE NEOPREN STICKER BETWEEN
WINDSHIELD AND THE ORIGINAL BOTTOM
ALLEN SCREW TO AVOID VIBRATIONS




